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(1) Sometimes an alkali such as soda is put in along with
the feed water, which has the tendency of converting
calcium sulphate into calcium carbonate, thus making it
less insoluble.
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{2) Suppose the bottom manhole has a compensating ring
and the boiler plate was corroded badly around the ring,
what would you do?
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(3) a) I can not find my hammer at hand.

b) At the best it will take an hour to overhaul this

air pump.
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(1) An ordinary steam engine consists essentially of —
(A) A boiler wherein the steam at a given pressure is ge-

nerated from water at a given temperature.

(B) Acylinder containing a movable, steam-tight pistons
of which the steam acts and does useful work.

(C) Frequently, another part, called the condenser, is ad-
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(3) Lead is the amount of the opening of the steam port
at the begining of the piston’s stroke. Lap of a slide
valve is the amount by which the edge of the valve over-
laps the adjoining edge of the steam port, when the
valve is in the middle of its stroke, and is termed cutside
or inside lap, according as we refer to the outside or in-
side of valve.
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1) Chief engineer must be able to take off and calculate
indicater diagrams and understand the action of the steam
in the cylinder as shown thereby.
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(2) Velocity is an indication of distance passed over by
a moving body in a unit of time and it may be either
uniform or changing.
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(3) The heat that enters the water from boiling point

until it becomes steam is called the latent heat of steam.
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(1) Cylinders and Cylinder Heads.  Fractures are cau-
sed by unequal heating due to (a) faulty castings (b)
bad design (c) air pockets in jackets (d) lack of cooling
water (e) overloading.
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(2) All precautions must be taken to prevent leakage of
oil through the tube ends of the oil heaters; which leak
age would cause oil to mix with the feed water and tend
to damage the boilers.
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(3) Mixtures of metals are termed alloys.
usually made by mixing metals together.

They are
When mer-
cury is one of the components of an alloy it is termed an
“ gmalgam. *
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(1)  On joining a ship or on taking charge of any steam
plant, what would you consider the most important thing
to do first?
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(3)  The impeller in a centrifugal pump is the wheel or
vanes, which impels or rotates the water so giving it the

centrifugal motion.
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3) There are certain formula in common use for ascer-
taining the percentage of strength of rivets and plates in
boiler seams; shew clearly and minutely how these rules
are obtained.
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(1) The functions of the fuel injection valve are twofold:
Firstly, that of a valve to introduce the fuel oil into the

cylinder at the correct moment.
Secondly, that of a sprayer to divide the fuel into minute

particles.
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(2)  The thrust block ought only to be subject to the axial

thrust, and not to the weight of the shaft. For this
reason it 1s always placed close to the after crank shaft
bearing or a plummer block.
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(3) Absolute temperature is the temperature reckoned
from an imaginary origin of heat, and situated 461° F

below the zero point.
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EXTAE

(1) We are indebted to the genius of James Watt for the
introduction of the steam engine indicator, and although
many modifications in design have been from time to time
introduced, his original idea remains to the present day



